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3. Evaluate the integral / / ldydz
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4. Set up limits of integration for finding the volume under g(z,y) = 10 —  within the
toxic green region shown:
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7. Bunny is a calculus student at Enormous State University, and she’s having some

trouble. Bunny says “OMG! Literally everything is impossible! I set up this one
2 px?

integral, like it was / something(z,y) dy dz, and the teacher just looked at it for

0:x/1
a second and said it was wrong, and he didn’t even know which problem I was doing,
so evidently it was wrong for everything ever! Then he wouldn’t even explain how he
could tell it was wrong, he just said I should know! Help!”

Help Bunny by explaining as clearly as you can why the integral she set up needs work.
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9. Set up an iterated integral for the volume of the region bounded between the parabolic

cylinders z = y? arzd z2=9—1z2
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